

R.70  
23 (I)

$$\frac{2x-4}{2x^2+3} \cdot x+2$$
$$\frac{2x^2+4x}{2x^2+4x}$$
$$\frac{-4x+3}{-4x-8}$$
$$\frac{11}{11}$$

$$\int_{-1}^0 \frac{2x+3}{x+2} dx = \int_{-1}^0 \left(2x-4 + \frac{11}{x+2}\right) dx = x^2-4x+11 \ln|x+2| \Big|_{-1}^0 =$$
$$= 11 \ln 2 - (1+4 + 11 \ln 1) = 11 \ln 2 - 5$$

$$(II) \int_{-\frac{\pi}{4}}^0 (\sin x \cos x + \sin 2x \cos 2x) dx = \int_{-\frac{\pi}{4}}^0 (0.5 \sin 2x + 0.5 \sin 4x) dx = \frac{-0.25 \cos 2x}{2} - \frac{0.125 \cos 4x}{4} \Big|_{-\frac{\pi}{4}}^0 =$$
$$= \left(-\frac{1}{4} - \frac{1}{8}\right) - \left(0 + \frac{1}{8}\right) = -\frac{1}{2}$$